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- SSC PART-I (10th CLASS)
BIG-OGY (NEW SCHEME) GROUP- ( 2015-17,2016-18 o ) iy - wuf (£ 2) ¢}

TIME ALLOWED: 145 Hours SUBJECTIVE _¥L» Z145 = =
MAXIMUM MARKS: 48 48 = AF

NOTE: - Write same question number -q..W{-{.JVﬁé Mf.‘}Z/ﬂf.Ur\h(Qb’dm e
and its part number on answer book, as given in the question paper,

SECTION-| Jsle

2. Attempt any five parts. 10=2x5 i el 8 240w
(il Differentiate between Stomata and Lenticels. éukJM*J‘fﬂer (0]
(i) What are Pleural membranes? Write their function SES A W
i) What is meant by Themoreguiation? Sene o (i)
(V) Write two Osmotic adjustments in Xerophytes ~é{f:‘*’b’u{t’n”\; ey ()
(v} Write the symptoms of renal stones. o, STH Ay I (v)
(Vi)  Differentiate between Central and Peripheral nervous system. ~EdMt ks W)
(vi)  Differentiate between Sympathetic system and Parasympathethic system. ¢S & hdASA— ¥ i % (vii)
{vil) What is meant by Goitre? e A

3. Attempt any five parts. 10=2x5 -é(lawwstsdf -3/U"’
() Describe the structure and functions of fendons. ~EoklslendiE ()
(i) Whatis the difference betwsen Flexion and Extension movements? te S LTFHEmar )
(I}  Define Stam Tubere and write two examples. LSty Ay At (i
(iv)  How does vegetative propagation by leaf take NP an example ../ aJ& s;;..},«:_.’ L slE (W)
{v)  Explain extamal fertilization with an example. O oL 'ziv_dbff ,w}J/ﬁ )
(Vi) Why did Mendel use pea plant in his experiments? b WO &"fa.xib/\ﬁ-—sfq—”-;lﬁ.’ )
(vil)  What do you mean by Phenotype and Genotype? \9/ = fE e i (il
(vii) What are breeds and Cultivars? O it ;M‘ {vili)
4. Attempt any five parts. 10=2x5 @&;ﬁw&m&gaéf oy
() Define Food Chain and also give an example WL s ASE ()
(i) write two disadvantages of Acid Rain. ,O RSl AdE ()
(i)  Define Bictechnology. LA )
(V) How did Genetic Engineering help in controlling Haemophilia (el /2T icaibal £ # e (W)

and Thalassemia?
(v/  Desceibe the importance of Single call Protsin, PO E NS
(vi)  Describe two precautionary measures before using Medicines. ~E STk e L e )
(vil)  Write down the names of two kinds of Antibiotics. ~E L Ol U i)
(viii)  From which sources drugs are obtained? rrded aiona Buse” (i)
SECTION-lI ¢
NOTE: - Attempt any two questions. .&LWLWMJ/ -]
5.{A) "Define Homeostasis and explain it with the help of 5 ~Fobfse Ul L Al e (W05
some axamples

(B) Wite the names of different components of Coordination 4 . /esindelimmtlin ML YL W (L)
process and explain any three
6.(A) Describe the types of Joints, 5 oIS (.6
(B) Expiain Binary fission with examples. 4 & -:»Ua'-u"&fd"d;l ()
TAA) What are Consumers? Write different groups of Consumers. 5 -u.“,#:/’.i"ﬁ;/z}” Sa iz ()7
(B) Write the types of Fermentation? Mow do they take place? 4 _»\,:"L’."" e LOE3 e .,,'."’(ﬁlj.f-"’? (<)
Explain.
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NUMBER: 3461 SSC PART-ll (10th CLASS)

BIOLOGY (NEW SCHEME) GROUP-I ( 2015-17,2016-18 % ) ik - o (A 2) By
TIME ALLOWED: 15 Minutes OBJECTIVE _u‘_if‘.o w15 =y
MAXIMUM MARKS; 12 12= A
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34 SIS R e SL S Sts ArPis i e SE S S | LSl 2
Note: You have four choices for each objective type question as A, B, C and D. The choice -qf.'w/ff.pﬂr
which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zoro mark in that question. Attempt as
many questions as given In objective type question paper and leave others blank. No credit will be awarded
incase BUBBLES are notfilled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) In humans, the gaseous exchange occurs, in -g.w)mf.t:.-,-ua (1

(A)Phaynx 23 (B) Trachea 442 (C) Bronchi 26 (D) Alveoli iy

(2) The name of tube between kidney and urinary bladder is the - el e s/ (2)
(A) Ureter %.¢ (B) Urethra | £,y (C) Renal tubule Jz:22 %, (D) Nephron ws ¥

(3) Insulin and glucagon are produced in the:- Q Y B2 O] 3)

(A) Hypothalamus Uk e ugisuila (B) Anterior pituitary 9&(&» »’- (C) Liver 2.4 (D) Pancreas 2, A3

(4) The smallest bone of the human body Is:- /6\ . i Pl (g
(A) Incus A (8) Malleus =’ (C) Stapes {@/) (D) Cochleais ¥

(5) Mature bone cells are called:- ‘Q GLWEGLS:  8)

(A) Osteocytes L+ (B) Cartiage gyl IS (C) Fibrous carlage puly % (D) Spongy bone w4 s

(8} Ovary is ripened into.- /O/f' .{.Jx;,:é'):{.}m‘ (6)
(A) Seed § (B) Flower J# (C) Fruit J¥ (D) Sweetness i

(7) Optimum temperature for the growth of seed is-- -e-tne Azt il LH/SE 7
() 25---30c (B) 35-—adc (C) 15-—-20¢ (D) 35—38c

(8) In human cells the number of homologous chromosames pairs is - .g.&nﬁi&w}zl e e A (8)
(A) 26 (B) 25 (©) 24 (D) 23

(9) presented the Law of Segregation. -g{,ﬁ:;f{é.f- I (9)
(A) Lamarck Ll (B) Watson & ois (C) Mendeli ) z» (D) Darwin &t}

(10)“ The R3" means:- oS8 "TheR3*  (10)
(A)Less use S (B) Reuse J@huss  (C) Recycle taluln (D) Refuse t//¢!

(11) Pencillin was discovered by:- dodages ()

(A) Lamarck L f4L. (B) Darwin Lysi (C) Sir Alexander Fleming L £c32 5% - (D) Robert Hook Lfasy

(12) The enzyme used to dissolve blood clots is - - NG DL Kl gindm  (12)

(A) Thymosin o»(id  (B) Lipase i (C) Insulin g2 (D) Urokinase ¥y
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2018 (A) \GRJ A
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TIME ALLOWED: 1.45 Hours SUBJECTIVE _¥L» Zas =
MAXIMUM MARKS: 48 48 = AF

NOTE: - Write same question number Ly Jr g MAL:HJW:{Q.’QR )
and its part number on answer book, as given in the question paper.

SECTION-l Jio
2. Attempt any five parts. 10=2x5 .é(ﬂwazaé;eéf 24y
() Whatis the difference between daytime respiration and respiration at night? L J)gfut«ﬁ"ﬁa:’:—’w'w )
(i} Write the symptoms of Amphysema. -u':"-—mo' wds o om
{6y Whatis meant by Homeostasis? Give an example IO S e P (i)
(v} Write the parts of Excretory System of man L UL A Jg,“:‘éuv'l ()
(v)  Whatis Lithotripsy? ey W)
(Vi) Write components of Coordination action. EHLnl LAY W
(vil)  Write twe main functions of Spinal Cord, el e (i)
(viii) Why Dwarfism is caused? e tnemSoMd (Vi)
3. Attempt any five parts. 10=2x5 S\ by 30
() Differentiate between Chondrocytes and Osteocytes LIS IS )
(i  Whatis meant by Ligaments? teirde ™ ()
(i) Write the imporiance of Reproduction - -.‘-g-'d'd'wybx,u (i)
(V)  Wnat s Endosperm Tissue? Q elPhns (W)
(v} What s the importance of Seed Dormancy? O/O teeafli¥ine (v
(vi)  What is meant by Alleles? L, Teapde ()
fwi)  Drfferentiate between Phenotype and Genotype /\9/ ~FLIAL Fetr i (vE)
(viil}  Write two sources of Variations, OO -l (i)
4. Attempt any five parts, 10=2x5 'Q e linibie a4y
(il Whatis meant by Pyramid of Biomass? Q. Te /e NAJTA @)
(#) Whatis meant by Producers? What will happen if Producers {730 M'yx?%bﬁ A Seaiale (i)

in an Ecosystem ends?
() Write down the use of Urokinase Enzyme. From which type e Vb rd AL,  Srehidy )
of microorganisms it has been produced?

(iv)  What is the use of Fermentation in dairy products? S Uit u"%u”fﬁ'«;t}{! (v)

V) What is meant by Single Cell Protein? teiple il )

(Vi) Write down the names of four diseases in which Vaccine is used? e J,«JP/;;‘»{.LJV.J;%;J{/@Q (vi)

{viy  Which drugs are obtained from animals? Give examples -4:\,30' frdn b-'-in'u‘?'cdu{? (i)

(viily  What is meant by Social Stigma? el (vil)
SECTION-l e

NOTE: - Attempt any two questions. Lol e o)

(&) Wnatis meant by Kidney Stones? Givethe 5 -o//7 7z e trfd A Sun/ teiedAles) ()5
Causes.symotoms and treatment of kidney stones.

(B) Write a note on Peripheral Nervous System. 4 -.,_'/,-f...u){/" ks (L)
BA) Whatis the diference between Carfilige and bone? Describe the kinds of Cartiage.5././2 FL3iSuen ¥ (). 6
(B) What is the role of Non-Government Organizations in 4 ‘?g.,b/‘t{i’u;/‘;ld;0}2&(’/1;&}"':’4'.!*' (&)

National Aids Control Programme.
7(A) Define Air Poliution and describe its effacts, 5 ~FE eI N N 3 PSS e (.7
{B) Describe the importance of Biotechnology in the field 4 eSSl SR e (L)

of Medicine and Environment,
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1 7/ .
PAPER CODE 2018 (A) Q “ Ay

NPMBER: 3462 SSC PARTI (10th CLASS)
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TIME ALLOWED: 15 Minutes OBJECTIVE u'fv/"/ o156 = 2y
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Note: You have four choices for each objective type question as A, B, C and D. The choice .([/-Kr ISM'”V

which you think Is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles wlll result In zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ., /:Ulr

(1) Tobacco smoke contains over chemicals - ISR S KoL nlid ()
(A) 50 (B) 400 (C) 4000 (D) 500

(2) The functional unit of the kidneys is called:- -,GJU:” Jl’n Jw'feﬂ’ (2)
(A) Neuron g€ (B) Ribosome 3l (C) Nephron wis ¥ (D) Ureter .

(3) Body synthesis rhodopsin from vitamin:- e thigerabua S (3)
A K B8) A ©/p (0) A B

(4) Eyes of dogs and cats shine due to the tayer- B NS Yy AR P (4)
(A) Tampenak &'  (B) Tapetum /' (©) Tapect;ihfﬁ (D) Pleural Jit

(5) End of muscles attached with moveable bone is called:- - b a2V ESASF2NPT (5)
(A) Origin s (8) Flexor A¥ (C) Insertion &1 7 (D) Extensor A%

(6) Transfer of pollen grains to stigma is called:- PN 2 C A
(A) Germination *%  (8) Reproduction o bz, (C) Fertilzation 27} (D) Pollination /3¢

{7) Amature ovule is called:- P 1))
(A) Fruit S (B) Tuber 4« (C) Seed & (D) Bulb 4

(8) flower is not found in Four O clock plant. -tyw,ﬁ{;«.:gd’m’ S JAE _(8)
(A) Pink colour £Jif  (B) Red colour £i{,»  (C) White colour £/ (D) Blue colour 12

(9) The number of hydrogen bonds between Cytosine and Guanine is:- < At P el o WIS (9)
(A) Three & (8) Two » (C) Four /p (D) One £

(10) The study of the interrelationship between organisms and their - tBb K B sl JANZiwusisy  (10)

environment is called -

(A) Cytology J¥/#L-  (B) Genetics JP (C) Sociology S/ (D) Ecology Js€1

(11) The complete map of Human Genome Project was pubiished in:- -V'k"d'iﬁ-.'»";};b’-:«?'{p?w":: (1
(A) 1978 (8) 1970 (C) 1944 (D) 2002

(12) Morphine is prepared from:- .4.rygﬁg/°élt (12)
(A) Opium %+ (B) Fungi 0¢ (C) Bacteria | 2 (D) FoxglovesS” 6

28(0bj)( *)-201 B(A)-28000 (MULTAN)
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